110mH =R &&:106.7cm

148 (+2.8)

L—>  Foin— K 4 Fir B EEEN JIE 42
1

2 3-561 B Eft ERX-2-#HK 158012 6
3 3-5339 FHL K ERX-1-HR 145074 3
4 3-562 FH =¥ EHX-2- 5E 14¥018 1
5 3-548 NF BE ERK-3- % 145066 2
6 3-560 FE R EHX-2- Kk 14%092 4
7 3-543 KN =4t ERX-2-5F 158004 5
8

248 (+0.8)

L—> Foin— K 4 Fir B EEEN JIE 42
1

2 3-542 HiE A ERX-3- KR 16005

3 3-5340 AR X ERX-1-54%0 155078 4
4 3-555 XK @13 EHRXK-2-#K 15004

5 3-559 FHL FAE ERK-3-FE DNS
6 3-5342 ZE Rt ER K153 155045 3
7 3-5337 ey R ERX-1-RH 15¥090 5
8 3043 vk WMFEEER-2-TE 145096 1




